

A new contractive mapping principle in fuzzy metric spaces

P. Saha¹ · Binayak S. Choudhury¹ · Pradyut Das¹

Received: 7 July 2014 / Accepted: 10 December 2015 / Published online: 21 December 2015 © Unione Matematica Italiana 2015

Abstract In this paper we introduce a new fuzzy contraction mapping and prove that such mappings have fixed point in complete fuzzy metric spaces. We give an illustrative example. The result generalizes some existing results.

Keywords Fuzzy metric spaces $\cdot \alpha - \psi$ -Contraction $\cdot \alpha$ -Admissible \cdot Continuous t-norm \cdot Fixed point

Mathematics Subject Classification 47H25 · 54H10

1 Introduction

In this paper we make a contribution to the fuzzy fixed point theory by providing a fixed point theorem for a new type of contraction mapping in fuzzy metric spaces. The new contraction is defined with the help of two functions. We call it $\alpha - \psi$ -fuzzy contraction. The motivation for such a definition is derived from a recent work of Samet et al. [14] in the context of metric spaces and also from other works following it like those noted in [6,7]. The fuzzy metric we consider here is that which is as defined in [2]. Fixed point theory in such spaces has developed quite extensively through works like [1,4,9–11] amongst other works. Particularly, fuzzy extensions of the Banach's contraction have appeared in works like [1,5,12,15]. The reason behind this development is some salient features of this space, one of which is that the

 Pradyut Das pradyutdas747@gmail.com
 P. Saha parbati_saha@yahoo.co.in
 Binayak S. Choudhury

binayak12@yahoo.co.in

¹ Department of Mathematics, Indian Institute of Engineering Science and Technology, Shibpur, P.O. B. Garden, Shibpur, Howrah, West Bengal 711103, India topology is Hausdorff topology, a feature which is considered very useful for a successful development of the metric fixed point theory.

2 Mathematical preliminaries

George and Veeramani in their paper [2] introduced the following definition of fuzzy metric space. We are concerned only with this definition of fuzzy metric space.

Definition 2.1 [2] The 3-tuple (X, M, *) is called a fuzzy metric space if X is an arbitrary non-empty set, M is a fuzzy set on $X^2 \times (0, \infty)$ satisfying the following conditions for each $x, y, z \in X$ and t, s > 0:

(i) M(x, y, t) > 0,

(ii) M(x, y, t) = 1 if and only if x = y,

(iii) M(x, y, t) = M(y, x, t),

(iv) $M(x, y, t) * M(y, z, s) \le M(x, z, t + s)$ and

(v) $M(x, y, .): (0, \infty) \longrightarrow (0, 1]$ is continuous,

where * is a continuous *t*-norm, that is, a continuous function *: $[0, 1]^2 \rightarrow [0, 1]$ such that (i)* is associative and commutative, (ii) a * 1 = a for all $a \in [0, 1]$, (iii) $a * b \le c * d$ whenever $a \le c$ and $b \le d$, for each $a, b, c, d \in [0, 1]$.

Let (X, M, *) be a fuzzy metric space. For t > 0 and r with 0 < r < 1, the open ball B(x, t, r) with center $x \in X$ is defined by

$$B(x, t, r) = \{ y \in X \colon M(x, y, t) > 1 - r \}.$$

A subset $A \subset X$ is called open if for each $x \in A$, there exist t > 0 and r with 0 < r < 1 such that $B(x, t, r) \subset A$. Let τ denote the family of all open subsets of X. Then τ is a topology and is called the topology on X induced by the fuzzy metric M. The topology τ is a Hausdorff topology [2]. In fact the Definition 2.1 is a modification of the definition given in [8] for ensuring Hausdorff topology of the space.

Definition 2.2 [2] Let (X, M, *) be a fuzzy metric space.

- (i) A sequence $\{x_n\}$ in X is said to be convergent to a point $x \in X$ if $\lim_{n\to\infty} M(x_n, x, t) = 1$ for all t > 0.
- (ii) A sequence $\{x_n\}$ in X is called a Cauchy sequence if for each ε with $0 < \varepsilon < 1$ and t > 0, there exists a positive integer n_0 such that $M(x_n, x_m, t) > 1 - \varepsilon$ for each $n, m \ge n_0$.
- (iii) A fuzzy metric space in which every Cauchy sequence is convergent is said to be complete.

The following lemma was proved by Grabiec [3] for fuzzy metric spaces defined by Kramosil and Michalek [8]. The proof is also applicable to the fuzzy metric space given in Definition 2.1.

Lemma 2.3 [3] Let (X, M, *) be a fuzzy metric space. Then M(x, y, .) is non-decreasing for all $x, y \in X$.

Lemma 2.4 [13] *M* is a continuous function on $X^2 \times (0, \infty)$. We use the following class of functions in our theorem. **Definition 2.5** (ψ -function) A function $\psi : [0, \infty) \to [0, \infty)$ is said to be a ψ - function if

- (i) ψ is nondecreasing and continuous,
- (ii) $\sum_{n=1}^{\infty} \psi^n(t) < \infty$ for all t > 0, where $\psi^{n+1}(t) = \psi(\psi^n(t)), n \ge 1$.

We denote the family of such functions by Ψ . It is clear that if $\psi \in \Psi$, then $\psi(t) < t$ for all t > 0.

The following function is an example of a ψ -function:

$$\psi(t) = \begin{cases} t - \frac{t^2}{2}, & \text{if } t \in [0, 1], \\ \frac{1}{2}, & t > 1. \end{cases}$$

Definition 2.6 Let (X, M, *) be a fuzzy metric space. Let $f: X \to X$ and $\alpha: X \times X \times (0, \infty) \to (0, \infty)$ be two mappings. The mapping f is α -admissible if

$$\alpha(x, y, t) \ge 1 \Rightarrow \alpha(fx, fy, t) \ge 1$$
 for all $t > 0$ and $x, y \in X$.

Definition 2.7 Let (X, M, *) be a fuzzy metric space and $f: X \to X$ be a mapping. The mapping f is an $\alpha - \psi$ -contractive mapping if there exist two functions $\alpha: X \times X \times (0, \infty) \to (0, \infty)$, and $\psi \in \Psi$ such that for all t > 0 and $x, y \in X$ we have

$$\alpha(x, y, t) \left(\frac{1}{M(fx, fy, t)} - 1\right) \le \psi\left(\frac{1}{M(x, y, t)} - 1\right).$$

$$(2.1)$$

Remark The above definition is a generalization of the contraction introduced by Gregori and Sapena [5]. If we take $\alpha(x, y, t) = 1$ for all $x, y \in X$ and $\psi(t) = kt$ for all t > 0 and $k \in (0, 1)$, then we get the following contraction

$$\left(\frac{1}{M(fx, fy, t)} - 1\right) \le k \left(\frac{1}{M(x, y, t)} - 1\right), \quad \text{for all } x, y \in X \text{ and } t > 0, \quad (2.2)$$

which has been studied in [5].

In the following we prove two lemmas which we use in the proof of our main theorem in the next section.

Lemma 2.8 If * is a continuous t-norm, and $\{\alpha_n\}, \{\beta_n\}$ and $\{\gamma_n\}$ are sequences such that $\alpha_n \to \alpha, \gamma_n \to \gamma$ as $n \to \infty$, then $\overline{\lim}_{k\to\infty} (\alpha_k * \beta_k * \gamma_n) = \alpha * \overline{\lim}_{k\to\infty} \beta_k * \gamma$ and

$$\underline{\lim_{k\to\infty}}(\alpha_k*\beta_k*\gamma_n)=\alpha*\underline{\lim_{k\to\infty}}\beta_k*\gamma.$$

Proof There exists $\{\beta_{n(p)}\} \subset \{\beta_n\}$ such that

$$\lim_{p \to \infty} \beta_{n(p)} = \overline{\lim_{k \to \infty}} \beta_{k} = \beta(\text{say}). \text{ Then}$$

$$\alpha * \overline{\lim_{k \to \infty}} \beta_{k} * \gamma = \lim_{p \to \infty} \alpha_{n(p)} * \lim_{p \to \infty} \beta_{n(p)} * \lim_{p \to \infty} \gamma_{n(p)}$$

$$= \lim_{p \to \infty} (\alpha_{n(p)} * \beta_{n(p)} * \gamma_{n(p)}) \text{ (by the continuity property of *)}$$

$$\leq \overline{\lim_{k \to \infty}} (\alpha_{k} * \beta_{k} * \gamma_{k}). \tag{2.3}$$

Deringer

We now show that the equality in (2.3) must hold. If not, then there exists a sequence of natural $\{n(q)\}$ such that

$$\begin{aligned} \alpha * \overline{\lim}_{k \to \infty} \beta_k * \gamma &< \overline{\lim}_{k \to \infty} (\alpha_k * \beta_k * \gamma_k) < \lim_{q \to \infty} (\alpha_{n(q)} * \beta_{n(q)} * \gamma_{n(q)}), \\ &= \lim_{q \to \infty} \alpha_{n(q)} * \lim_{q \to \infty} \beta_{n(q)} * \lim_{q \to \infty} \gamma_{n(q)}, \\ &= \alpha * \lim_{q \to \infty} \beta_{n(q)} * \gamma. \end{aligned}$$

By the monotone property of * we have that

 $\overline{\lim_{k\to\infty}}\beta_k < \overline{\lim_{q\to\infty}}\beta_{n(q)}, \text{ which is contradiction.}$

Therefore, we conclude that $\alpha * \overline{\lim}_{k \to \infty} \beta_k * \gamma = \overline{\lim}_{k \to \infty} (\alpha_k * \beta_k * \gamma_k)$. The other part of the lemma is similarly proved.

Lemma 2.9 Let $\{f(k, .): [0, \infty) \to [0, 1], k = 0, 1, 2, ...\}$ be a sequence of functions such that f(k, .) is continuous and monotone increasing for each $k \ge 0$. Then $\overline{\lim}_{k\to\infty} f(k, t)$ is a left continuous function in t and $\underline{\lim}_{k\to\infty} f(k, t)$ is a right continuous function in t.

Proof Let $g(n, t) = \sup_{p>n} f(p, t)$. Then

$$\lim_{n \to \infty} g(n, t) = \overline{\lim_{k \to \infty}} f(k, t).$$

By the conditions of the lemma the above limit exists finitely. Let $\eta > 0$ be arbitrary. We can find $p \ge n$ such that

$$f(p,t) > \sup_{p \ge n} f(p,t) - \eta = g(n,t) - \eta$$
, that is, $g(n,t) < \eta + f(p,t)$

Since each f(k, .) is monotone increasing for each k, g(n, .) is also monotone increasing for each n. Then

$$g(n, t) - g(n, t - \eta) \le \eta + f(p, t) - \sup_{p \ge n} f(p, t - \eta)$$

$$\le \eta + f(p, t) - f(p, t - \eta)$$

$$\le \eta + \eta. \sup_{s \in [t - \eta, t]} f(p, s)$$

$$\le \eta + \eta.1 \quad \text{(since the range of f is within [0, 1])}$$

$$= 2\eta.$$

Taking $n \to \infty$ in the above inequality,

$$\lim_{n \to \infty} g(n, t) - \lim_{n \to \infty} g(n, t - \eta) = \lim_{k \to \infty} f(k, t) - \lim_{k \to \infty} f(k, t - \eta)$$

< $2n \to 0$ as $n \to \infty$.

This establishes that $\overline{\lim}_{k\to\infty} f(k, t)$ is left continuous in t.

The other part of the lemma, that is, $\overline{\lim}_{k\to\infty} f(k, t)$ a right continuous function is similarly established.

We denote $O(x) = \{x, fx, f^2x, \ldots\}$

3 Main results

Theorem 3.1 Let (X, M, *) be a complete fuzzy metric space and let $f: X \to X$ be a $\alpha - \psi$ -contractive mapping which satisfies the following conditions:

- (i) f is α admissible,
- (ii) there exists $x_0 \in X$ such that $\alpha(x, y, t) \ge 1$ for all t > 0 whenever $x, y \in O(x_0)$,
- (iii) if $\{x_n\}$ is a sequence in X such that $\alpha(x_n, x_{n+1}, t) \ge 1$ for all $n \ge 1$ and for all t > 0, and $x_n \to x$ as $n \to \infty$, then $\alpha(x_n, x, t) \ge 1$ for all $n \ge 1$ and for all t > 0.

Then the mapping f has a fixed point.

Proof By an assumption of the theorem there exists $x_0 \in X$ such that $\alpha(x_0, fx_0, t) \ge 1$ for all t > 0. We now construct a sequence $\{x_n\}$ in X as follows:

 $x_1 = f x_0, x_2 = f x_1, x_3 = f x_2, \dots$, and, in general, for all $n \ge 1$,

$$x_n = f x_{n-1}.$$
 (3.1)

Since *f* is α - admissible, for all t > 0, we have

$$\alpha(x_0, fx_0, t) = \alpha(x_0, x_1, t) \ge 1 \Rightarrow \alpha(fx_0, fx_1, t) = \alpha(x_1, x_2, t) \ge 1.$$

Again, for all t > 0, we have

$$\alpha(x_1, fx_1, t) = \alpha(x_1, x_2, t) \ge 1 \Rightarrow \alpha(fx_1, fx_2, t) = \alpha(x_2, x_3, t) \ge 1.$$

By continuing this above process, for all t > 0, we have

$$\alpha(x_n, x_{n+1}, t) \ge 1$$
 for all $n \ge 1$.

Now, for all t > 0, we have

$$\left(\frac{1}{M(x_1, x_2, t)} - 1\right) = \left(\frac{1}{M(fx_0, fx_1, t)} - 1\right)$$

 $\leq \alpha(x_0, x_1, t) \left(\frac{1}{M(fx_0, fx_1, t)} - 1\right), \text{ since } [\alpha(x_0, x_1, t) \geq 1]$
 $\leq \psi \left(\frac{1}{M(x_0, x_1, t)} - 1\right) [\text{by } (2.1)].$

Again, for all t > 0, we obtain

$$\begin{pmatrix} \frac{1}{M(x_2, x_3, t)} - 1 \end{pmatrix} = \left(\frac{1}{M(fx_1, fx_2, t)} - 1 \right)$$

$$\leq \alpha(x_1, x_2, t) \left(\frac{1}{M(fx_1, fx_2, t)} - 1 \right), \text{ since } [\alpha(x_1, x_2, t) \ge 1]$$

$$\leq \psi \left(\frac{1}{M(x_1, x_2, t)} - 1 \right) [\text{by } (2.1)]$$

$$\leq \psi^2 \left(\frac{1}{M(x_0, x_1, t)} - 1 \right) \text{ (since } \psi \text{ in non-decreasing).}$$

Repeating the above procedure, for all t > 0, we have

$$\left(\frac{1}{M(x_n, x_{n+1}, t)} - 1\right) \le \psi^n \left(\frac{1}{M(x_0, x_1, t)} - 1\right).$$

Deringer

Taking $n \to \infty$ in the above inequality, for all t > 0, we obtain

$$\lim_{n \to \infty} \left(\frac{1}{M(x_n, x_{n+1}, t)} - 1 \right) \le \lim_{n \to \infty} \psi^n \left(\frac{1}{M(x_0, x_1, t)} - 1 \right) \to 0$$

as $n \to \infty$ (by a property of ψ).

That is,

$$\lim_{n \to \infty} \left(\frac{1}{M(x_n, x_{n+1}, t)} - 1 \right) = 0.$$

Then, for all t > 0, we obtain

$$\lim_{n \to \infty} M(x_n, x_{n+1}, t) = 1.$$
(3.2)

Next we show that $\{x_n\}$ is a Cauchy sequence in X. We suppose, if possible, that $\{x_n\}$ is not a Cauchy sequence in X. Then there exists some $\epsilon > 0$ and some λ with $0 < \lambda < 1$, for which we can find two subsequences $\{x_{m(k)}\}$ and $\{x_{n(k)}\}$ of $\{x_n\}$ with

$$n(k) > m(k) > k \tag{3.3}$$

such that

$$M(x_{m(k)}, x_{n(k)}, \epsilon) \le (1 - \lambda), \tag{3.4}$$

for all positive integer k.

(

We may choose the n(k) as the smallest integer exceeding m(k) for which (3.4) holds. Then, for all positive integer k,

$$M(x_{m(k)}, x_{n(k)-1}, \epsilon) > (1-\lambda)$$

$$(3.5)$$

Then, for all $k \ge 1, 0 < s < \frac{\epsilon}{2}$, we obtain,

$$1 - \lambda) \ge M(x_{m(k)}, x_{n(k)}, \epsilon)$$

$$\ge M(x_{m(k)}, x_{m(k)-1}, s) * M(x_{m(k)-1}, x_{n(k)-1}, \epsilon - 2s)$$

$$*M(x_{n(k)-1}, x_{n(k)}, s).$$
(3.6)

Let,

$$h_1(t) = \overline{\lim_{k \to \infty}} M(x_{m(k)-1}, x_{n(k)-1}, t), \quad t > 0.$$
(3.7)

Taking limit supremum on both sides of (3.6), using (3.2), and the properties of M and *, by Lemma 2.8, we obtain

$$(1 - \lambda) \ge 1 * \overline{\lim_{k \to \infty}} M(x_{m(k)-1}, x_{n(k)-1}, \epsilon - 2s) * 1 = h_1(\epsilon - 2s).$$
(3.8)

Since M is bounded with range in [0, 1], continuous and, by Lemma 2.3, monotone increasing in the third variable t, it follows by an application of Lemma 2.9 that h_1 , as given in (3.7) is continuous from the left.

Letting $s \to 0$ in (3.8), we obtain

$$\overline{\lim_{k \to \infty}} M(x_{m(k)-1}, x_{n(k)-1}, \epsilon) \le (1-\lambda).$$
(3.9)

Let,

$$h_2(t) = \lim_{k \to \infty} M(x_{m(k)-1}, x_{n(k)-1}, t), \quad t > 0.$$
(3.10)

D Springer

Again, for all $k \ge 1$, s > 0,

$$M(x_{m(k)-1}, x_{n(k)-1}, \epsilon + s) \ge M(x_{m(k)-1}, x_{m(k)}, s) * M(x_{m(k)}, x_{n(k)-1}, \epsilon)$$

$$\ge M(x_{m(k)-1}, x_{m(k)}, s) * (1 - \lambda), \quad [by (3.5)]. \quad (3.11)$$

Taking limit infimum as $k \to \infty$ in (3.11), by virtue of (3.2), we obtain

$$h_{2}(\epsilon + s) = \lim_{k \to \infty} M(x_{m(k)-1}, x_{n(k)-1}, \epsilon + s)$$

$$\geq \lim_{k \to \infty} M(x_{m(k)-1}, x_{m(k)}, s) * (1 - \lambda)$$

$$= 1 * (1 - \lambda) = (1 - \lambda).$$
(3.12)

Since M is bounded with range in [0,1], continuous and, by Lemma 2.3, monotone increasing in the third variable t, it follows by an application of Lemma 2.9 that h_2 , as given in (3.10) is continuous from the right.

Taking $s \rightarrow 0$ in the above inequality (3.12), we obtain

$$\lim_{k \to \infty} M(x_{m(k)-1}, x_{n(k)-1}, \epsilon) \ge (1-\lambda).$$
(3.13)

The inequalities (3.9) and (3.13) jointly imply that

$$\lim_{k \to \infty} M(x_{m(k)-1}, x_{n(k)-1}, \epsilon) = (1 - \lambda).$$
(3.14)

Again by (3.4),

$$\overline{\lim_{k \to \infty}} M(x_{m(k)}, x_{n(k)}, \epsilon) \le (1 - \lambda).$$
(3.15)

Also for all $k \ge 1$, s > 0, we obtain

$$M(x_{m(k)}, x_{n(k)}, \epsilon + 2s) \ge M(x_{m(k)}, x_{m(k)-1}, s) * M(x_{m(k)-1}, x_{n(k)-1}, \epsilon)$$

* $M(x_{n(k)-1}, x_{n(k)}, s)$

Taking limit infimum as $k \to \infty$ in the above inequality, using (3.2), (3.14) and the properties of M and *, by Lemma 2.8, we obtain

$$\lim_{k \to \infty} M(x_{m(k)}, x_{n(k)}, \epsilon + 2s) \ge 1 * \lim_{k \to \infty} M(x_{m(k)-1}, x_{n(k)-1}, \epsilon) * 1 = 1 - \lambda.$$

Since M is bounded with range in [0, 1], continuous and, by Lemma 2.3, monotone increasing in the third variable t, it follows by an application of Lemma 2.9 that $\lim_{k\to\infty} M(x_{m(k)}, x_{n(k)}, t)$ is continuous function of t from the right.

Taking $s \rightarrow 0$ in the above inequality, and using Lemma 2.9, we obtain

$$\underbrace{\lim_{k \to \infty} M(x_{m(k)}, x_{n(k)}, \epsilon)}_{k \to \infty} \ge (1 - \lambda),$$
(3.16)

Deringer

Combining (3.15) and (3.16), we obtain

$$\lim_{k \to \infty} M(x_{m(k)}, x_{n(k)}, \epsilon) = (1 - \lambda)$$

$$\left(\frac{1}{M(x_{m(k)}, x_{n(k)}, \epsilon)} - 1\right) = \left(\frac{1}{M(fx_{m(k)-1}, fx_{n(k)-1}, \epsilon)} - 1\right)$$

$$\leq \alpha(x_{m(k)-1}, x_{n(k)-1}, \epsilon) \left(\frac{1}{M(fx_{m(k)-1}, fx_{n(k)-1}, \epsilon)} - 1\right)$$

$$(by condition (ii) of Theorem 3.1)$$

$$\leq \psi \left(\frac{1}{M(fx_{m(k)-1}, fx_{n(k)-1}, \epsilon)} - 1\right), \quad by (2.1).$$

Taking $k \to \infty$ in the above inequality, we have

$$\left(\frac{1}{\lim_{k \to \infty} M(x_{m(k)}, x_{n(k)}, \epsilon)} - 1\right) \le \psi \left(\frac{1}{\lim_{k \to \infty} M(fx_{m(k)-1}, fx_{n(k)-1}, \epsilon)} - 1\right).$$
(since ψ is continuous)

Using (3.14) and (3.17), we have

$$\left(\frac{1}{1-\lambda}-1\right) \leq \psi\left(\frac{1}{1-\lambda}-1\right) < \left(\frac{1}{1-\lambda}-1\right),$$

which is a contradiction.

Thus it is established that $\{x_n\}$ is a Cauchy sequence. Since (X, M, *) is complete, there exists $x \in X$ such that

$$\lim_{n \to \infty} x_n = x. \tag{3.18}$$

Next, we show that x is a fixed point of f. Now, for all t > 0

$$\left(\frac{1}{M(x_{n+1}, fx, t)} - 1\right) = \left(\frac{1}{M(fx_n, fx, t)} - 1\right)$$

$$\leq \alpha(x_n, x, t) \left(\frac{1}{M(fx_n, fx, t)} - 1\right)$$

[by condition (iii) of Theorem 3.1]

$$\leq \psi \left(\frac{1}{M(x_n, x, t)} - 1\right) \quad [by (2.1)]$$

Taking $n \to \infty$ in the above inequality, for all t > 0, we have

$$\left(\frac{1}{\lim_{n \to \infty} M(x_{n+1}, fx, t)} - 1\right) \le \psi \left(\frac{1}{\lim_{k \to \infty} M(x_n, x, t)} - 1\right)$$
$$= \psi (1 - 1)$$
$$= \psi (0)$$
$$= 0 \quad \text{(by the properties of } \psi),$$

which implies that $\lim_{n\to\infty} M(x_{n+1}, fx, t) = 1$. Since M is continuous, in view of (3.18), we have M(x, fx, t) = 1, which implies that fx = x, that is, f has fixed point.

Example 3.2 Let $X = [0, \infty)$, for all t > 0, $M(x, y, t) = e^{-\frac{|x-y|}{t}}$ where $x, y \in X$ and $a * b = \min\{a, b\}$. Then (X, M, *) is a complete fuzzy metric space. Let the mapping $f : X \to X$ be defined as follows:

$$fx = \begin{cases} \frac{x}{4}, & \text{if } x \in [0, 1], \\ 4, & \text{otherwise,} \end{cases}$$

and the mapping $\alpha \colon X \times X \times (0, \infty) \to (0, \infty)$ by

$$\alpha(x, y, t) = \begin{cases} 1, & \text{if } x, y \in [0, 1], \\ 0, & \text{otherwise,} \end{cases}$$

for all $x, y \in X$ and $\psi(t) = \frac{3}{4}t$.

Now let $x, y \in X$ be such that $\alpha(x, y, t) \ge 1$ for all t > 0. It then follows that $x, y \in [0, 1]$. Then by using the definition of f and α , we have $fx = \frac{x}{4} \in [0, 1]$, $fy = \frac{y}{4} \in [0, 1]$ and then $\alpha(fx, fy, t) = 1$ for all t > 0, which implies that f is α - admissible.

With any $x_0 \in [0, 1]$ we see that condition (ii) of Theorem 3.1 is satisfied. Also it is obvious that condition (iii) is also satisfied.

Now let at least one of x and y is not in [0, 1], then $\alpha(fx, fy, t) = 0$ and holds trivially. If x and y both are in [0, 1], then $\alpha(fx, fy, t) = 1$ and the inequality (2.1) holds. Then, by an application of Theorem 3.1, f has at least one fixed point. Here f has two fixed points 0 and 4.

Note It may be noted that the contraction of Gregori and Sapena (2.2) is not satisfied for given 0 < k < 1. To see this we take x = 1 and $y = 1 + \frac{1}{n}$. Then for all t > 0, we have

$$M(x, y, t) = e^{-\frac{1}{nt}}$$
, that is, $\frac{1}{M(x, y, t)} - 1 = e^{\frac{1}{nt}} - 1$

and

$$M(fx, fy, t) = e^{-\frac{\frac{1}{4}-4}{t}}$$
, that is, $\frac{1}{M(fx, fy, t) - 1} = e^{\frac{3.75}{t}} - 1.$

In order that (2.2) is satisfied for fixed 0 < k < 1, we must have, for t > 0,

$$\frac{e^{\frac{3.75}{t}} - 1}{e^{\frac{1}{nt}} - 1} \le k.$$

But taking *n* sufficiently large, we see that the above inequality is violated. This shows that the contraction in the Theorem 3.1 is more generalized than the contraction of Gregori and Sapena [5]. Our theorem thus in an actual improvement over the result in [5].

Conclusion and open problem The inequality (2.1) can lead to a new metric inequality if we consider the fuzzy metric space as induced by a metric in the usual way. In that case we can have new fixed point results if we proceed similarly as in our theorems. The idea of the contraction introduced here can be extended to the case of more than one mappings. Also coupled contractions can be introduced following the same line.

Acknowledgments The suggestions of the learned referee have been acknowledged.

References

- Ćirić, L.: Some new results for Banach contractions and Edelstein contractive mappings on fuzzy metric spaces. Chaos Solitons Fractals 42, 146–154 (2009)
- 2. George, A., Veeramani, P.: On some result in fuzzy metric space. Fuzzy Sets Syst. 64, 395–399 (1994)
- 3. Grabiec, M.: Fixed points in fuzzy metric spaces. Fuzzy Sets Syst. 27, 385-389 (1988)
- Gregori, V., Romaguera, S.: Some properties of fuzzy metric spaces. Fuzzy Sets Syst. 115, 485–489 (2000)
- Gregori, V., Sapena, A.: On fixed-point theorems in fuzzy metric spaces. Fuzzy Sets Syst. 125, 245–252 (2002)
- 6. Hasanzade Asl, J., Rezapour, S., Shahzad, N.: On fixed points of $\alpha \psi$ -contractive multifunctions. Fixed Point Theory Appl. **2012**, 212 (2012)
- 7. Hussain, N., Arshad, M., Shoaib Fahimuddin, A.: Common fixed point results for $\alpha \psi$ -contractions on a metric space endowed with graph. J. Inequal. Appl. **2014**, 136 (2014)
- 8. Kramosil, I., Michalek, J.: Fuzzy metric and statistical metric spaces. Kybernetica 11, 326–334 (1975)
- 9. Mihet, D.: On fuzzy contractive mappings in fuzzy metric spaces. Fuzzy Sets Syst. 158, 915-921 (2007)
- Mihet, D.: On fuzzy ε-contractive mappings in fuzzy metric space. Fixed Point Theory Appl. Article ID 87471 (2007)
- 11. Razani, A.: A contraction theorem in fuzzy metric space. Fixed Point Theory Appl. 2005, 257-265 (2005)
- Roldan, A., Martinez, J., Roldan, C., Cho, Y.J.: Multidimensional coincidence point results for compatible mappings in partially ordered fuzzy metric spaces. Fuzzy Sets Syst. 251, 71–82 (2014)
- Rodríguez López, J., Romaguera, S.: The Hausdorff fuzzy metric on compact sets. Fuzzy Sets Syst. 147, 273–283 (2004)
- Samet, B., Vetro, C., Vetro, P.: Fixed point theorems for α ψ-contractive type mappings. Nonlinear Anal. 75, 2154–2165 (2012)
- Shen, Y., Qiu, D., Chen, W.: Fixed point theorems in fuzzy metric spaces. Appl. Math. Lett. 25, 138–141 (2012)